| - (u
it Zy.‘i'Z:Lu. KT{;:S—’LW _llﬁ_ J: '_'

h=o h h=o ——TE— Theo x(eh) b X2
£G) = % L ol Llblz (=1 011
h=0.0( Loed7
v.00( . 049 I ARS 6,0173 X
lL.ol%t7
o,aoa)[ , 0786'

%J"{: ,4.’ )l-‘"\ ’&_

h=o
= \m (;),.m —J’W( xeh &%
4 (= I—J;Z)
= N R S §

h=d V\F")*‘F‘) W20 Jehtdx il 2%



[ /
e su0 %B@ 2 [# ) %)

%%’x;é’ﬁ:z
M(ﬂ)( ¢> (] = [ ¥ 2«

Toobel:
£leb) 50eh) ~FE) 5 &) -
Lok (erk) ~ F Geeh) g+ Flek) gy — 46556
e qu&d)am@) J:O%«D(s&m) ,:)

'?4 K WD ‘P{ ) &
(M‘w\m”z L’ao
-

= $0) 9% L §')q0)




Pf‘aa(w’" V‘M\@:
4 - 850 %E% s@]

Oocs ﬁ/\ S wv—[c?

= 00 X
%’. X (:'0#4754 + (,}J).‘EL
= lx +xl= 24 \/
J §-= 0( 1?’5 } yz.x. J ¢
];% j;(si &*‘l\ )LJ;(%

T y%s 0l m 2



:an"'l_ J Xx“:- XW_'_XAXW
s IA ‘L‘
L b see n "Qx"‘: n%”"
J«
nom _‘Q_ M‘M(:. )(44. )(n)(u-(
# “
= W' g
= (“’))xv\
%o 15[3.: 2z
: 3
A 1‘}: q«‘
I
J )(S :'Ss(q.
2y



’og ( >(3-Z,(7+ D ex
&+

= (32 dx)e*s (222 1)

3 (¢5+¢2’- Uy+(>6\<

Workded- 4 4= =) _ eNe? )
by 7



)

Ak

low
h

sl 4

|t
h=p

A

o)
{-\[wh\ f&)
l
'V(%)“I(slaln>

L

‘n 'ST(!) -p(sl-yn
RO\ -?(#h) (vh) ~ )

fm heo lek) = bp
£14)

4&\

- {10

F)*



NI
oéc L+ x* ()

e e e

Ouo-‘M"" N\Eﬁ \
PR NERVA NP (9&\

hoda 9w

= ﬂ;)\ —Gl;)g’(x\ )

3[%\ g( W&

e,%.

= LY 46N\ - )56
g™







